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1 The equation of a curve is y = x + cos 2x. Find the x-coordinates of the stationary points of the curve
for which 0 < x < &, and determine the nature of each of these stationary points. [7]
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The curve with equation y = 6e* — e** has one stationary point.

(i) Find the x-coordinate of this point.

(ii) Determine whether this point is a maximum or a minimum point.
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The curve with equation y = ¢ " sin x has one stationary point for which 0 < x < 7.

(i) Find the x-coordinate of this point.

(ii) Determine whether this point is a maximum or a minimum point.
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8  The parametric equations of a curve are
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The parametric equations of a curve are
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(ii) Find the gradient of the curve at the point for which x = 1.
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3 The parametric equations of a curve are
3 . 3
X=acos t, y=asint,

. " 1
where a is a positive constant and 0 < 7 < 7.
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(ii) Show that the equation of the tangent to the curve at the point with parameter 7 is
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2  The equation of a curve is x” + 2y~ = 3xy.

o dy y—x°
(i) Show that — = — .
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L F0, g:}:o
(ii) Find the coordinates of the point, other than the origin, where the curve has a tangent which is
parallel to the x-axis. [5]
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